# GROWTH AND OSCILLATION OF MEROMORPHIC SOLUTIONS OF LINEAR DIFFERENCE EQUATIONS 

Zinelaâbidine Latreuch and Benharrat Belaïdi


#### Abstract

In this paper, we study the growth and the oscillation of solutions of linear difference equations with meromorphic coefficients. Also, we investigate the growth of difference polynomials generated by meromorphic solutions of some difference equations. We improve and generalize some results due to Z. X. Chen, I. Laine and C. C. Yang.


## 1. Introduction

Throughout this paper, we assume that the reader is familiar with the fundamental results and the standard notations of the Nevanlinna's value distribution theory $[13,14,22]$. In addition, we will use $\lambda(f)$ and $\bar{\lambda}(f)$ to denote respectively the exponents of convergence of the zero-sequence and distinct zeros of a meromorphic function $f, \rho(f)$ to denote the order of growth of $f$ and $\tau(f)$ the type of $f$.

Recently, there has been an increasing renewed interest in complex difference equations and difference analogues of Nevanlinna theory $[1,3,5-9,11,12,15,17$, $18,21,23]$. We firstly recall some existence results for meromorphic solutions of difference equations. The following two results have been proved by Shimomura [18] and Yanagihara [21], respectively.

Theorem A. [18] For any nonconstant polynomial $P(y)$, the difference equation

$$
y(z+1)=P(y(z))
$$

has a nontrivial entire solution.
Theorem B. [21] For any nonconstant rational function $R(y)$, the difference equation

$$
y(z+1)=R(y(z))
$$

has a nontrivial meromorphic solution in the complex plane.
2010 Mathematics Subject Classification: 39A10, 30D35, 39A12
Keywords and phrases: Linear difference equations; meromorphic function; order of growth; type of meromorphic function.

The following two results concerning both existence and growth restrictions for meromorphic solutions of linear difference equations, have been proved by Bank and Kaufman [2] and Whittaker [20], respectively.

Theorem C. [2] For any nonconstant rational function $R(z)$, the difference equation

$$
y(z+1)-y(z)=R(z)
$$

has a nontrivial meromorphic solution $y(z)$ such that $T(r, y)=O(r)$.
Theorem D. [20] Let $\rho$ be a real number, and let $\Psi(z)$ be a given entire function with order $\rho(\Psi)=\rho$. Then the equation

$$
F(z+1)=\Psi(z) F(z)
$$

admits a meromorphic solution of order $\rho(F) \leq \rho+1$.
In the recent paper [8], Chiang and Feng improved Theorem D by showing that $\rho(F) \leq \rho+1$ can be replaced by $\rho(F)=\rho+1$ (Corollary 9.3). In fact, they have investigated meromorphic solutions of the linear difference equation

$$
\begin{equation*}
a_{n}(z) f(z+n)+a_{n-1}(z) f(z+n-1)+\cdots+a_{1}(z) f(z+1)+a_{0}(z) f(z)=0 \tag{1.1}
\end{equation*}
$$

where $a_{n}(z), \ldots, a_{0}(z)$ are entire functions such that $a_{n}(z) a_{0}(z) \not \equiv 0$, and proved the following two results.

Theorem E. [8] Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z)$ be polynomials such that there exists an integer $l, 0 \leq l \leq n$ such that

$$
\operatorname{deg}\left(a_{l}\right)>\max _{0 \leq j \leq n, j \neq l}\left\{\operatorname{deg}\left(a_{j}\right)\right\}
$$

If $f(z)$ is a meromorphic solution of (1.1), then $\rho(f) \geq 1$.
Theorem F. [8] Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z)$ be entire functions such that there exists an integer $l, 0 \leq l \leq n$ such that

$$
\rho\left(a_{l}\right)>\max _{0 \leq j \leq n, j \neq l}\left\{\rho\left(a_{j}\right)\right\} .
$$

If $f(z)$ is a meromorphic solution of (1.1), then $\rho(f) \geq \rho\left(a_{l}\right)+1$.
In [15], I. Laine and C. C. Yang obtained the following theorem which is an improvement of the previous result.

Theorem G. [15] Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z)$ be entire functions of finite order such that among those having the maximal order $\rho=\max _{0 \leq j \leq n}\left\{\rho\left(a_{j}\right)\right\}$, one has exactly its type strictly greater than the others. Then for any meromorphic solution of (1.1), we have $\rho(f) \geq \rho+1$.

Recently, Theorem E has been improved by Z. X. Chen as follows.

Theorem H. [6, Theorem 1.2] Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z)$ be polynomials such that $a_{n}(z) a_{0}(z) \not \equiv 0$ and satisfy

$$
\operatorname{deg}\left(a_{0}+a_{1}+\cdots+a_{n}\right)=\max \left\{\operatorname{deg} a_{j}: j=0, \ldots, n\right\} \geq 1
$$

Then every finite order meromorphic solution $f(z) \not \equiv 0$ of the equation (1.1) satisfies $\rho(f) \geq 1$, and $f(z)$ assumes every non-zero value $a \in \mathbb{C}$ infinitely often and $\lambda(f-$ $a)=\rho(f)$.

## 2. Growth and oscillation of solutions

There arise many interesting questions such as:
QUESTION 2.1. What can be said if we replace the condition " $a_{0}(z), \ldots, a_{n}(z)$ be entire functions" in Theorems F and G by " $a_{0}(z), \ldots, a_{n}(z)$ be meromorphic functions"?

Question 2.2. What about oscillation and fixed point of meromorphic solutions of (1.1) under the above condition?

The aim of this paper is to give an answer for the above questions, and we obtain the following results.

THEOREM 2.1. Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z)$ be meromorphic functions such that $\lambda\left(\frac{1}{a_{l}}\right)<\rho\left(a_{l}\right)=\rho(0<\rho<\infty), \tau\left(a_{l}\right)=\tau(0<\tau<\infty)$. Suppose that

$$
\begin{equation*}
\max \left\{\rho\left(a_{j}\right): 0 \leq j \leq n, j \neq l\right\} \leq \rho \tag{2.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{\rho\left(a_{j}\right)=\rho} \tau\left(a_{j}\right)<\tau \tag{2.2}
\end{equation*}
$$

If $f(z)$ is a meromorphic solution of (1.1), then $\rho(f) \geq \rho\left(a_{l}\right)+1$.
Recently, Z. X. Chen $[6,7]$ have investigated the complex oscillation of entire solutions to homogeneous and nonhomogeneous linear difference equations, and obtained some relations of the exponent of convergence of zeros and the order of growth of entire solutions to complex linear difference equations. The following theorem is an extension of result obtained by S. A. Gao, Z. X. Chen and T. W. Chen in [10].

Theorem 2.2. Let $a_{0}(z), a_{1}(z), \ldots, a_{n}(z), F(z)(\not \equiv 0)$ be finite order meromorphic functions. If $f$ is a meromorphic solution of the equation

$$
\begin{equation*}
a_{n} f(z+n)+a_{n-1} f(z+n-1)+\cdots+a_{1} f(z+1)+a_{0} f(z)=F \tag{2.3}
\end{equation*}
$$

with

$$
\begin{equation*}
\max \left\{\rho\left(a_{j}\right)(j=0, \ldots, n), \rho(F)\right\}<\rho(f) \tag{2.4}
\end{equation*}
$$

then $\lambda(f)=\rho(f)$.

EXAMPLE 2.1. The function $f(z)=\frac{1}{\Gamma(z)}+1$ with $\rho(f)=1$ satisfies the difference equation

$$
z(z+1) f(z+2)-z f(z+1)=z^{2}
$$

and the assumption (2.4). Therefore $\lambda(f)=\rho(f)=1$.
Example 2.2. The function $f(z)=e^{z}$ with $\rho(f)=1$ satisfies

$$
f(z+2)-e f(z+1)+f(z)=e^{z}
$$

It is clear that $f$ does not satisfies the assumption (2.4) and we have $0=\lambda(f)<$ $\rho(f)=1$.

Theorem 2.3. Under the hypotheses of Theorem 2.1, let $\varphi$ be a meromorphic function such that one of the following conditions holds:
(i) $\varphi$ is not a solution of (1.1) with $\rho(\varphi)<\rho(f)$;
(ii) $\varphi \not \equiv 0$ and $\rho(\varphi)<\rho\left(a_{l}\right)+1$.

Then $\lambda(f-\varphi)=\rho(f)$.
Corollary 2.1. Under the hypotheses of Theorem 2.3, we have $\lambda(f-z)=$ $\rho(f)$.

Example 2.3. The function $f(z)=e^{z^{2}}$ with $\rho(f)=2$ satisfies the difference equation

$$
e^{-4 z-4} f(z+2)-f(z)=0
$$

Set $\varphi(z)=z$. Then, obviously the hypotheses of Theorem 2.3 are satisfied. Therefore, $\lambda\left(e^{z^{2}}-z\right)=\rho\left(e^{z^{2}}\right)=2$.

## 3. Growth of difference polynomials

It is natural to ask what can be said about the growth of difference polynomials generated by solutions of difference equations. In this section we consider the difference equation

$$
\begin{equation*}
f(z+2)+a(z) f(z+1)+b(z) f(z)=0 \tag{3.1}
\end{equation*}
$$

where $a(z)$ and $b(z)$ are meromorphic functions. We denote by

$$
\left\{\begin{align*}
f_{j}=f(z+j), j & \geq 1 \text { is an integer }  \tag{3.2}\\
f=f_{0} & =f(z)
\end{align*}\right.
$$

It is known that (see $[8,9]) \rho\left(f_{j}\right)=\rho(f)$ for all $j \in \mathbb{N}$. We define also

$$
\Delta f=f(z+1)-f(z)
$$

and

$$
\Delta^{n} f=\Delta^{n-1}(\Delta f), n \geq 1 \text { is an integer. }
$$

In [9], Chiang and Feng proved the following inequality

$$
\rho\left(\Delta^{n} f\right) \leq \rho(f), n \in \mathbb{N}
$$

and the equality is not true always. By using (3.2) the equation (3.1) can be written as

$$
\begin{equation*}
f_{2}+a(z) f_{1}+b(z) f=0 \tag{3.3}
\end{equation*}
$$

The aim of this section is to find the relation between the growth of the solution $f$ and the difference polynomial

$$
\begin{equation*}
g=e f_{2}+d f_{1}+c f \tag{3.4}
\end{equation*}
$$

where $c(z), d(z)$ and $e(z)$ are meromorphic functions of finite order. Before we state our results, we define

$$
\begin{gather*}
\alpha=d-e a, \beta=c-e b  \tag{3.5}\\
\gamma=c_{1}-e_{1} b_{1}-d_{1} a+e_{1} a_{1} a, \delta=e_{1} a_{1} b-d_{1} b  \tag{3.6}\\
h=\alpha \delta-\beta \gamma \tag{3.7}
\end{gather*}
$$

where $a_{1}(z):=a(z+1), b_{1}(z):=b(z+1), c_{1}(z):=c(z+1), d_{1}(z):=d(z+1)$ and $e_{1}(z):=e(z+1)$. We obtain the following results.

THEOREM 3.1. Let $a$ and $b$ be meromorphic functions satisfying $\lambda\left(\frac{1}{b}\right)<\rho(b)<$ $\infty, \rho(a)<\rho(b)$ and $0<\tau(a)<\tau(b)<\infty$ if $\rho(a)=\rho(b)>0$, and let $c, d$, e be meromorphic functions not all vanishing identically such that $h \not \equiv 0$ and

$$
\max \{\rho(c), \rho(d), \rho(e)\}<\rho(b)+1
$$

If $f(z)$ is a meromorphic solution of (3.1), then the difference polynomial (3.4) satisfies

$$
\rho(g)=\rho(f) \geq \rho(b)+1
$$

REmark 3.1. In Theorem 3.1, if we do not have the condition $h \not \equiv 0$, then the conclusion of Theorem 3.1 cannot holds. For example, if $e(z)=1, d(z)=a(z)$ and $c(z)=b(z)$, then $h \equiv 0$. It is clear that

$$
\max \{\rho(c), \rho(d), \rho(e)\}<\rho(b)+1
$$

and $g=0$, so $\rho(g) \neq \rho(f)$. Hence the condition $h \not \equiv 0$ in Theorem 3.1 is necessary.
Corollary 3.1. Let $a$ and $b$ be meromorphic functions satisfying $\lambda\left(\frac{1}{b}\right)<$ $\rho(b)<\infty, \rho(a)<\rho(b)$ and $0<\tau(a)<\tau(b)<\infty$ if $\rho(a)=\rho(b)>0$. If $f(z)$ is $a$ meromorphic solution of (3.1), then

$$
\rho(\Delta f)=\rho(f)
$$

Furthermore, if

$$
h=b_{1}-3 b-2 a-a a_{1}-2 b a_{1}-b b_{1}-1 \not \equiv 0
$$

then $\rho\left(\Delta^{2} f\right)=\rho(f)$.

## 4. Some lemmas

Setting $p=1$ in Lemma 3.5 in [4] (see, also Lemma 8 in [19]), we obtain
Lemma 4.1. Let $f$ be a meromorphic function with $\rho(f)=\rho(0<\rho<\infty)$ and $\tau(f)=\tau(0<\tau<\infty)$. Then for any given $\beta<\tau(f)$, there exists a subset $E_{1}$ of $[1, \infty)$ that has infinite logarithmic measure such that

$$
T(r, f)>\beta r^{\rho}
$$

holds for all $r \in E_{1}$.
Lemma 4.2. [8] Let $\eta_{1}, \eta_{2}$ be two arbitrary complex numbers such that $\eta_{1} \neq \eta_{2}$ and let $f(z)$ be a finite order meromorphic function. Let $\sigma$ be the order of $f(z)$, then for each $\varepsilon>0$, we have

$$
m\left(r, \frac{f\left(z+\eta_{1}\right)}{f\left(z+\eta_{2}\right)}\right)=O\left(r^{\sigma-1+\varepsilon}\right)
$$

Using the properties of the order of growth and the definition of the type, we easily obtain the following result for which we omit the proof. For details see [16].

Lemma 4.3. [16] Let $f$ and $g$ be meromorphic functions in the complex plane such that $0<\rho(f), \rho(g)<\infty$ and $0<\tau(f), \tau(g)<\infty$. Then we have:
(i) If $\rho(f)>\rho(g)$, then we obtain

$$
\begin{equation*}
\tau(f+g)=\tau(f g)=\tau(f) \tag{4.1}
\end{equation*}
$$

(ii) If $\rho(f)=\rho(g)$ and $\tau(f) \neq \tau(g)$, then we get

$$
\begin{equation*}
\rho(f+g)=\rho(f g)=\rho(f)=\rho(g) \tag{4.2}
\end{equation*}
$$

## 5. Proof of the theorems and corollaries

Proof of Theorem 2.1. If $\rho(f)=\infty$, then the result is trivial. Next we suppose $\rho(f)<\infty$. We divide through equation (1.1) by $f(z+l)$ to get

$$
\begin{equation*}
a_{l}(z)=-\left(a_{n}(z) \frac{f(z+n)}{f(z+l)}+\cdots+a_{1}(z) \frac{f(z+1)}{f(z+l)}+a_{0}(z) \frac{f(z)}{f(z+l)}\right) \tag{5.1}
\end{equation*}
$$

It follows that

$$
\begin{align*}
T\left(r, a_{l}\right) & =m\left(r, a_{l}\right)+N\left(r, a_{l}\right) \\
& \leq \sum_{\substack{j \neq l \\
j=0}}^{n} m\left(r, a_{j}\right)+\sum_{\substack{j \neq l \\
j=0}}^{n} m\left(r, \frac{f(z+j)}{f(z+l)}\right)+N\left(r, a_{l}\right)+O(1) \tag{5.2}
\end{align*}
$$

By Lemma 4.2, we have for sufficiently large $r$ and any given $\varepsilon>0$

$$
\begin{equation*}
m\left(r, \frac{f(z+j)}{f(z+l)}\right)=O\left(r^{\rho(f)-1+\varepsilon}\right), j=0, \ldots, n, j \neq l \tag{5.3}
\end{equation*}
$$

Let us choose $\sigma$ such that $\lambda\left(1 / a_{l}\right)<\sigma<\rho\left(a_{l}\right)=\rho$. Then we have for any given $\varepsilon$ $(0<\varepsilon<\rho-\sigma)$

$$
\begin{equation*}
N\left(r, a_{l}\right) \leq r^{\lambda\left(\frac{1}{a_{l}}\right)+\varepsilon}<r^{\sigma+\varepsilon} \tag{5.4}
\end{equation*}
$$

Assume that $\max _{0 \leq j \leq n, j \neq l}\left\{\rho\left(a_{j}\right)\right\} \leq \rho\left(a_{l}\right)$ and $\sum_{\rho\left(a_{j}\right)=\rho} \tau\left(a_{j}\right)<\tau\left(a_{l}\right)$. Then there exists a set $J_{1} \subseteq\{0,1, \ldots, l-1, l+1, \ldots, n\}$ such that for $j \in J_{1}$ we have $\rho\left(a_{j}\right)=\rho\left(a_{l}\right)=\rho$ and $\sum_{j \in J_{1}} \tau\left(a_{j}\right)<\tau\left(a_{l}\right)=\tau$ and for $i \in\{0,1, \ldots, l-1, l+$ $1, \ldots, n\} \backslash J_{1}$ we have $\rho\left(a_{i}\right)<\rho\left(a_{l}\right)=\rho$. Hence, we can choose $\alpha_{1}, \alpha_{2}$ satisfying $\sum_{j \in J_{1}} \tau\left(a_{j}\right)<\alpha_{1}<\alpha_{2}<\tau$ such that for any given $\varepsilon\left(0<\varepsilon<\frac{\alpha_{2}-\alpha_{1}}{n}\right)$, we have

$$
\begin{equation*}
T\left(r, a_{j}\right) \leq\left(\tau\left(a_{j}\right)+\varepsilon\right) r^{\rho}, j \in J_{1} \tag{5.5}
\end{equation*}
$$

and

$$
\begin{equation*}
T\left(r, a_{i}\right) \leq r^{\rho_{0}}, i \in\{0,1, \ldots, l-1, l+1, \ldots, n\} \backslash J_{1} \tag{5.6}
\end{equation*}
$$

where $0<\rho_{0}<\rho$. By applying Lemma 4.1, there exists a subset $I$ of $[1, \infty)$ that has infinite logarithmic measure such that for all $r \in I$, we have

$$
\begin{equation*}
T\left(r, a_{l}\right)>\alpha_{2} r^{\rho} \tag{5.7}
\end{equation*}
$$

By using the assumptions (5.3)-(5.7), we obtain from (5.2) for any given $\varepsilon(0<$ $\left.\varepsilon<\min \left\{\frac{\alpha_{2}-\alpha_{1}}{n}, \rho-\sigma\right\}\right)$ and for all $r \in I$

$$
\begin{aligned}
\alpha_{2} r^{\rho} & <\sum_{j \in J_{1}}\left(\tau\left(a_{j}\right)+\varepsilon\right) r^{\rho}+\sum_{i \in\{0,1, \ldots, l-1, l+1, \ldots, n\} \backslash J_{1}} r^{\rho_{0}}+O\left(r^{\rho(f)-1+\varepsilon}\right)+r^{\sigma+\varepsilon} \\
& <\left(\alpha_{1}+\varepsilon n\right) r^{\rho}+n r^{\rho_{0}}+O\left(r^{\rho(f)-1+\varepsilon}\right)+r^{\sigma+\varepsilon}
\end{aligned}
$$

It follows that

$$
\begin{equation*}
\left(\alpha_{2}-\alpha_{1}-\varepsilon n\right) r^{\rho}<n r^{\rho_{0}}+O\left(r^{\rho(f)-1+\varepsilon}\right)+r^{\sigma+\varepsilon} \tag{5.8}
\end{equation*}
$$

Since $0<\varepsilon<\min \left\{\frac{\alpha_{2}-\alpha_{1}}{n}, \rho-\sigma\right\}$, we obtain from (5.8) that $\rho\left(a_{l}\right)=\rho \leq \rho(f)-1$.
Proof of Theorem 2.2. By (2.3) we have

$$
\begin{equation*}
\frac{1}{f(z)}=\frac{1}{F}\left(a_{n} \frac{f(z+n)}{f(z)}+\cdots+a_{1} \frac{f(z+1)}{f(z)}+a_{0}\right) \tag{5.9}
\end{equation*}
$$

Set $\max \left\{\rho\left(a_{j}\right)(j=0, \ldots, n), \rho(F)\right\}=\beta<\rho(f)=\rho$. Then, for any given $\varepsilon(0<$ $\left.\varepsilon<\frac{\rho-\beta}{2}\right)$, we have

$$
\begin{equation*}
\sum_{j=0}^{n} T\left(r, a_{j}\right)+T(r, F) \leq(n+2) \exp \left\{r^{\beta+\varepsilon}\right\}=o(1) \exp \left\{r^{\rho-\varepsilon}\right\} \tag{5.10}
\end{equation*}
$$

By (5.9), (5.10) and Lemma 4.2, we obtain

$$
\begin{align*}
T(r, f) & =T\left(r, \frac{1}{f}\right)+O(1)=m\left(r, \frac{1}{f}\right)+N\left(r, \frac{1}{f}\right)+O(1) \\
& \leq N\left(r, \frac{1}{f}\right)+m\left(r, \frac{1}{F}\right)+\sum_{j=0}^{n} m\left(r, a_{j}\right)+\sum_{j=1}^{n} m\left(r, \frac{f(z+j)}{f(z)}\right)+O(1) \\
& \leq N\left(r, \frac{1}{f}\right)+T\left(r, \frac{1}{F}\right)+\sum_{j=0}^{n} T\left(r, a_{j}\right)+\sum_{j=1}^{n} m\left(r, \frac{f(z+j)}{f(z)}\right)+O(1) \\
& \leq N\left(r, \frac{1}{f}\right)+O\left(r^{\rho-1+\varepsilon}\right)+o(1) \exp \left\{r^{\rho-\varepsilon}\right\} . \tag{5.11}
\end{align*}
$$

By (5.11), we obtain that $\rho(f) \leq \lambda(f)$ and since $\lambda(f) \leq \rho(f)$ for every meromorphic function, we deduce that $\lambda(f)=\rho(f)$.

Proof of Theorem 2.3. Set $w(z)=f(z)-\varphi(z)$.
(i) If $\rho(f)>\rho(\varphi)$, then we have $\rho(w)=\rho(f)$. Substituting $w$ into equation (1.1), we obtain

$$
\begin{aligned}
& a_{n} w(z+n)+a_{n-1} w(z+n-1)+\cdots+a_{1} w(z+1)+a_{0} w(z) \\
& \quad=-\left(a_{n} \varphi(z+n)+a_{n-1} \varphi(z+n-1)+\cdots+a_{1} \varphi(z+1)+a_{0} \varphi(z)\right) \\
& \quad=A(z)
\end{aligned}
$$

Since $\varphi$ is not a solution of (1.1), then $A \not \equiv 0$. By Theorem 2.1 we have

$$
\rho(f) \geq \max _{0 \leq j \leq n}\left\{\rho\left(a_{j}\right)\right\}+1
$$

which implies

$$
\begin{equation*}
\rho(w)=\rho(f)>\max \left\{\rho(A), \rho\left(a_{j}\right)(j=0, \ldots, n)\right\} \tag{5.12}
\end{equation*}
$$

Then, by Theorem 2.2 we have $\lambda(w)=\rho(w)$, i.e., $\lambda(f-\varphi)=\rho(f)$.
(ii) Suppose now that $\varphi \not \equiv 0$ and $\rho(\varphi)<\rho\left(a_{l}\right)+1$. Since $\varphi \not \equiv 0$ and

$$
\rho(\varphi)<\rho\left(a_{l}\right)+1=\max _{0 \leq j \leq n}\left\{\rho\left(a_{j}\right)\right\}+1 \leq \rho(f)
$$

then $A \not \equiv 0$. By (5.12) and Theorem 2.2, we obtain $\lambda(w)=\rho(w)$, i.e., $\lambda(f-\varphi)=$ $\rho(f)$. This completes the proof of Theorem 2.3.

Proof of Corollary 2.1. Setting $g(z)=f(z)-z$, it is clear that $\rho(g)=\rho(f)$ because $\rho(f)>\rho(z)=0$. Substituting $f=g+z$ into equation (1.1), we obtain

$$
\sum_{j=0}^{n} a_{j}(z) g(z+j)=-\sum_{j=0}^{n}(z+j) a_{j}(z)
$$

In order to prove $\rho(f)=\lambda(f-z)$ we need to prove $\sum_{j=0}^{n}(z+j) a_{j}(z) \not \equiv 0$. Suppose that $\sum_{j=0}^{n}(z+j) a_{j}(z) \equiv 0$. Then, by the conditions (2.1), (2.2) and Lemma 4.3 we have

$$
\rho\left(\sum_{j=0}^{n}(z+j) a_{j}(z)\right)=\rho\left(a_{l}\right)>0
$$

which is a contradiction. Hence, by applying Theorem 2.3 we obtain $\lambda(f-z)=$ $\rho(f-z)=\rho(f)$.

Proof of Theorem 3.1. By using Theorem 2.1, we have $\rho(f) \geq \rho(b)+1$. Substituting $f_{2}=-a f_{1}-b f$ into $g=e f_{2}+d f_{1}+c f$, we get

$$
\begin{equation*}
g=e\left(-a f_{1}-b f\right)+d f_{1}+c f=(d-e a) f_{1}+(c-e b) f \tag{5.13}
\end{equation*}
$$

Then

$$
\begin{align*}
g_{1} & =\left(d_{1}-e_{1} a_{1}\right) f_{2}+\left(c_{1}-e_{1} b_{1}\right) f_{1} \\
& =\left(d_{1}-e_{1} a_{1}\right)\left(-a f_{1}-b f\right)+\left(c_{1}-e_{1} b_{1}\right) f_{1} \\
& =\left(c_{1}-e_{1} b_{1}-\left(d_{1}-e_{1} a_{1}\right) a\right) f_{1}+\left(-d_{1} b+e_{1} a_{1} b\right) f \\
& =\left(c_{1}-e_{1} b_{1}-d_{1} a+e_{1} a_{1} a\right) f_{1}+\left(e_{1} a_{1} b-d_{1} b\right) f \tag{5.14}
\end{align*}
$$

By using (3.5), (3.6) we can deduce from (5.13) and (5.14) that

$$
\left\{\begin{array}{c}
g=\alpha f_{1}+\beta f \\
g_{1}=\gamma f_{1}+\delta f
\end{array}\right.
$$

which implies by using (3.7) and $h \not \equiv 0$ that

$$
\begin{equation*}
f=\frac{\alpha g_{1}-\gamma g}{h} \tag{5.15}
\end{equation*}
$$

It is clear from (3.4) that $\rho(g) \leq \rho(f)$, and by (5.15) we have $\rho(f) \leq \rho(g)$. Hence, $\rho(f)=\rho(g)$.

Proof of Corollary 3.1. Set $g=\Delta f(z)=f_{1}(z)-f(z)$. Then by (3.4) we have

$$
e(z)=0, \quad d(z)=1 \text { and } c(z)=-1
$$

By (3.5)-(3.7), we obtain

$$
\begin{gathered}
\alpha=d-e a=1, \quad \beta=c-e b=-1 \\
\gamma=c_{1}-e_{1} b_{1}-d_{1} a+e_{1} a_{1} a=-1-a, \quad \delta=e_{1} a_{1} b-d_{1} b=-b,
\end{gathered}
$$

and

$$
h=\alpha \delta-\beta \gamma=-a-b-1
$$

Since $\rho(a)<\rho(b)<\infty$ and $0<\tau(a)<\tau(b)<\infty$ if $\rho(a)=\rho(b)<\infty$, then by Lemma 4.3 we have $\rho(h)=\rho(b)>0$, so $h \not \equiv 0$. By using Theorem 3.1, we have $\rho(g)=\rho(\Delta f)=\rho(f)$.

Now set $g=\Delta^{2} f(z)=f_{2}(z)-2 f_{1}(z)+f(z)$. Then by (3.4) we have $e(z)=1$, $d(z)=-2$ and $c(z)=1$. By (3.5)-(3.7), we obtain

$$
\begin{gathered}
\alpha=-2-a, \quad \beta=1-b \\
\gamma=1-b_{1}+2 a+a_{1} a, \quad \delta=a_{1} b+2 b
\end{gathered}
$$

and

$$
h=\alpha \delta-\beta \gamma=b_{1}-3 b-2 a-a a_{1}-2 b a_{1}-b b_{1}-1
$$

Since $h \not \equiv 0$, then by using Theorem 3.1, we have $\rho(g)=\rho\left(\Delta^{2} f\right)=\rho(f)$.

## REFERENCES

[1] M. J. Ablowitz, R. Halburd and B. Herbst, On the extension of the Painlevé property to difference equations, Nonlinearity 13 (3) (2000), 889-905.
[2] S. B. Bank, R. P. Kaufman, An extension of Hölder's theorem concerning the gamma function, Funkcial. Ekvac. 19 (1) (1976), 53-63.
[3] W. Bergweiler, J. K. Langley, Zeros of differences of meromorphic functions. Math. Proc. Cambridge Philos. Soc. 142 (1) (2007), 133-147.
[4] T. Cao, J. F. Xu and Z.X. Chen, On the meromorphic solutions of linear differential equations on the complex plane, J. Math. Anal. Appl. 364 (1) (2010), 130-142.
[5] Z. X. Chen, Z. Huang and R. Zhang, On difference equations relating to gamma function, Acta Math. Sci. 2011, 31B(4):1281-1294.
[6] Z. X. Chen, Growth and zeros of meromorphic solution of some linear difference equations, J. Math. Anal. Appl. 373 (1) (2011), 235-241.
[7] Z. X. Chen, Zeros of entire solutions to complex linear difference equations, Acta Math. Sci.32B(2012), 1141-1148.
[8] Y. M. Chiang, S. J. Feng, On the Nevanlinna characteristic of $f(z+\eta)$ and difference equations in the complex plane, Ramanujan J. 16 (1) (2008), 105-129.
[9] Y. M. Chiang, S. J. Feng, On the growth of logarithmic differences, difference quotients and logarithmic derivatives of meromorphic functions, Trans. Amer. Math. Soc. 361 (7) (2009), 3767-3791.
[10] S. A. Gao, Z. X. Chen and T. W. Chen, Oscillation Theory of Linear Differential Equations, Huazhong University of Science and Technology Press, Wuhan, 1998 (in Chinese).
[11] R. G. Halburd, R. J. Korhonen, Difference analogue of the lemma on the logarithmic derivative with applications to difference equations, J. Math. Anal. Appl. 314 (2) (2006), 477-487.
[12] R. G. Halburd, R. J. Korhonen, Nevanlinna theory for the difference operator, Ann. Acad. Sci. Fenn. Math. 31 (2) (2006), 463-478.
[13] W. K. Hayman, Meromorphic Functions, Oxford Mathematical Monographs Clarendon Press, Oxford 1964.
[14] I. Laine, Nevanlinna Theory and Complex Differential Equations, de Gruyter Studies in Mathematics, 15, Walter de Gruyter \& Co., Berlin, 1993.
[15] I. Laine, C. C. Yang, Clunie theorems for difference and q-difference polynomials, J. Lond. Math. Soc. (2) 76 (3) (2007), 556-566.
[16] Z. Latreuch and B. Belaïdi, Estimations about the order of growth and the type of meromorphic functions in the complex plane, An. Univ. Oradea, fasc. Mat. 20 (1) (2013), 169-176.
[17] S. Li, Z. S. Gao, Finite order meromorphic solutions of linear difference equations, Proc. Japan Acad, 87 (5) (2011), 73-76.
[18] S. Shimomura, Entire solutions of a polynomial difference equation, J. Fac. Sci. Univ. Tokyo Sect. I A Math. 28 (2) (1981), 253-266.
[19] J. Tu, C. F. Yi, On the growth of solutions of a class of higher order linear differential equations with coefficients having the same order, J. Math. Anal. Appl. 340 (1) (2008), 487-497.
[20] J. M. Whittaker, Interpolatory Function Theory, Cambridge University Press, Cambridge, 1935.
[21] N. Yanagihara, Meromorphic solutions of some difference equations, Funkcial. Ekvac. 23 (3) (1980), 309-326.
[22] C. C. Yang, H. X. Yi, Uniqueness Theory of Meromorphic Functions, Mathematics and its Applications, 557, Kluwer Academic Publishers Group, Dordrecht, 2003.
[23] X. M. Zheng, J. Tu, Growth of meromorphic solutions of linear difference equations, J. Math. Anal. Appl. 384 (2) (2011), 349-356.
(received 26.09.2012; in revised form 25.05.2013; available online 01.08.2013)
Department of Mathematics, Laboratory of Pure and Applied Mathematics, University of Mostaganem (UMAB), B. P. 227 Mostaganem-(Algeria)
E-mail: z.latreuch@gmail.com, belaidi@univ-mosta.dz

